
 

 
 
 
 

 
1   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-1073-RevB ECO #: W17-0088 DATE: 12/05/2017 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

INSTALLATION INSTRUCTIONS 
CONTOUR LED BULL BAR 

APPLICATION:  

2009-2018 Dodge Ram 1500 

PART NUMBER:  

32-31050-L & 32-31055T-L 

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1 1 CONTOUR BULL BAR ASSEMBLY 6MM HEX KEY 

2,3 2 MOUNTING BRACKET, DRIVER (2) AND PASSENGER (3)  8MM HEX KEY 

4,5 2 UPPER SUPPORT STRAP, DRIVER (4) AND PASSENGER (5) 17MM SOCKET 

6 2 UPPER MOUNTING BRACKET 17MM WRENCH 

7 2 LOWER SUPPORT STRAP 19MM SOCKET 

8,9 2 LOWER MOUNTING BRACKET, DRIVER (8) AND PASSENGER (9) 19MM WRENCH 

10 4 M10 HEX NUT (YELLOW ZINC) FLAT HEAD  

SCREWDRIVER 11 10 SMALL M10 FLAT WASHER (YELLOW ZINC)  

12 8 M10 SPLIT LOCK WASHER (YELLOW ZINC) HAMMER 

13 2 LONG M10 HEX HEAD BOLT  (YELLOW ZINC) RATCHET 

14 2 LARGE M10 FLAT WASHER (YELLOW ZINC)  TORQUE WRENCH 

15 6 SHORT M10 HEX HEAD BOLT (YELLOW ZINC)  

16 8 M12 FLAT WASHER (YELLOW ZINC)   

17 4 M12 SPLIT LOCK WASHER (YELLOW ZINC)  

18 4 M12 HEX NUT (YELLOW ZINC)  

19 4 SHORT M12 HEX HEAD BOLT (YELLOW ZINC)   

20 2 SHORT M10 HEX HEAD BOLT (BLACK ZINC/STAINLESS STEEL)  

21 2 M10 FLAT WASHER (BLACK ZINC/STAINLESS STEEL)  

22 2 M10 SPLIT LOCK WASHER (BLACK ZINC/STAINLESS STEEL)  

23 4 M12 BUTTON HEAD BOLT (BLACK ZINC/STAINLESS STEEL)  

24 2 LONG M12 HEX HEAD BOLT (BLACK ZINC/STAINLESS STEEL)  

25 10 M12 FLAT WASHER (BLACK ZINC/STAINLESS STEEL)  

26 4 M12 SPLIT LOCK WASHER (BLACK ZINC/STAINLESS STEEL)  

27 4 M12 HEX NUT (BLACK ZINC/STAINLESS STEEL)  

ANTI-SEIZE LUBRICANT MUST BE USED ON ALL STAINLESS STEEL FASTENERS TO PREVENT THREAD DAMAGE AND GALLING 

 



 

 
 
 
 

 
2   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-1073-RevB ECO #: W17-0088 DATE: 12/05/2017 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

2. 2009 - 2012 Models without tow hooks & 2009 - 2015 Express and Sport Models: Removal or trimming of blank 

filler panel in bumper is required in order to allow attachment of upper support straps to bull bar. Remove the inserts by 

removing the 2-piece plastic clips at the top of the panel. Use a flat head screwdriver to first pop the center pin out to     

release the clip. See Figures 1 & 3.  

2013 - 2018 Models without tow hooks: Remove the two plastic covers in the bumper by removing the (4) M6      

fasteners from the inside of the bumper.  See Figures 2 & 4.  

PROCEDURE 

1. Remove contents from box, verify if all parts listed are present and free from damage.  

Carefully read and understand all instructions before attempting installation. 

Failure to identify damage before installation could lead to a rejection of any claim. 

Figure 1 

2009 - 2012 Models: Filler panel with trimmed slots shown. 

2009 - 2015 Sport and Express Models. 

Figure 2 

2013 - 2018 Models: Location of bumper plastic inserts. 

Figure 3 

Remove these plastic clips. 

Figure 4 

2013+ Models: Remove these M6 bolts from 

the backside of the bumper (four per side).  

 

ITEM 2 

ITEM 8 ITEM 9 

ITEM 4 ITEM 5 ITEM 3 

ITEM 7 ITEM 6 

ITEM 1 



 

 
 
 
 

 
3   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-1073-RevB ECO #: W17-0088 DATE: 12/05/2017 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

Figure 6 

Remove inner bolts 

Do not remove this bolt 

5. Install upper mounting brackets. 

A. For vehicles w/o tow hooks:  Place the upper mounting brackets (6) up against the frame of the vehicle. 

Loosely reinstall the original hardware on the outside holes of the upper mounting brackets. See Figure 7. 

B. For vehicles equipped with tow hooks: Donôt use the upper frame mounting bracket. 

6. Loosely install the upper support straps (4 & 5) to the opposite side of the frame, through the tow hook pocket. Refer to   

Figure 8. Secure the upper support strap and upper frame bracket by using the provided M12 hardware (24 &25) 

and the nut removed in step 3 (Figure 5). Note: Stock bolt will not be re-used for the inner hole.  

Figure 7 

Mounting location of upper frame bracket (6). Note: Use bracket only for vehi-

cles not equipped with tow hooks. Driver side shown. 

Figure 8 

Upper support strap (4 & 5) mounting location on a non-tow hook 

model. Upper support strap mounts to same location for vehicles 

equipped with tow hooks. Driver side shown.  

Inner Hole 

Outer Hole 

Upper Frame Bracket 

Figure 5 

Non-Tow Hook Model: Remove these two hex nuts. Note: If equipped 

with tow hooks, only remove inner nuts. 

7. For Doge Ram 1500 Express       

and Sport: Plastic brackets 

that are on the Sport and    

Express need to be trimmed in 

order to fit the mounting 

brackets (2 & 3). Refer to   

Figures 9 and 10. Note:         

Significant cutting is required.  

Trim as necessary. 

Figure 9 

Trim plastic bracket around 

this area as necessary. 

Trim plastic bracket around this area as necessary. 

Figure 10 

Upper Mounting Bracket Original Hardware 

3. On each side of the vehicle, locate the two hex nuts on the lower bumper mount and remove them. See Figure 5. Note: For 

vehicles with factory tow hooks, it is only  necessary to remove the inner nuts.  

4. On each side of the vehicle, drive the inner carriage bolts in the bumper bracket out of the bracket by striking the end of the 

bolts with a hammer. See Figure 6. Discard the tin retaining washers.  

Remove hex nuts 

Upper frame bracket 


